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QUESTION 1

An organization has an ESXi 6.x host that contains two resource pools. 

The host is being relocated to a DRS cluster. 

What two actions can be taken to integrate the host into the cluster, and what would happen to the existing 

ESXi resource pool hierarchy as a result? (Choose two.) 

A. Place all of the host\\'s virtual machines into the DRS cluster root resource pool. The resource pools present on the
host will be deleted. 

B. Create a resource pool for the ESXi host\\'s virtual machines and resource pools. The resource pools present on the
host will be deleted. 

C. Place all of the host\\'s virtual machines into the DRS cluster root resource pool. The resource pools present on the
host will be preserved. 

D. Create a resource pool for the ESXi host\\'s virtual machines and resource pools. The resource pools present on the
host will be preserved. 

Correct Answer: AD 

 

QUESTION 2

A VMware vSphere 6.x Administrator has been tasked with enabling the Integrated Load Balancer for the 

new vRealize Log Insight cluster. 

What three options are required before the Integrated Load Balancer can be used? (Choose three.) 

A. The time on the vRealize Log Insight virtual appliance must be synchronized with an NTP server. 

B. All vRealize Log Insight nodes are configured as the same size. 

C. The vRealize Log Insight master and work nodes must have CA signed certificates. 

D. Verify that all vRealize Log Insight nodes and the specified Integrated Load Balancer IP address are on the same
network. 

E. The vRealize Log Insight master and worker nodes must have the same certificates. 

Correct Answer: ADE 

 

QUESTION 3

An administrator is evaluating whether to deploy vCenter Server on a Windows server or on a vCenter Server appliance.
The administrator has the following requirements: 

- A web browser will be utilized to manage the vSphere environment. 
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-16 ESXi hosts will be deployed. 

-

 Licenses must be shared with a vCenter Server at another site. 

-

 An external Oracle 10g database server will be used to host the vCenter Server database. Why will the administrator
need to deploy vCenter Server on a Windows server? 

A. 

Linked Mode is a requirement for the solution. 

B. 

Oracle 10g is a requirement for the solution. 

C. 

The vSphere web client is a requirement for the solution. 

D. 

Management of more than 5 hosts is a requirement for the solution. 

Correct Answer: A 

Since licenses will be shared with a vCenter Server at another site, linked mode would be required. Link mode joins
multiple vCenter Server sites and allows them to share information. 

 

QUESTION 4

What field or option is required when creating a VM snapshot? (Choose the best answer.) 

A. Snapshot description 

B. Quiesce guest file system 

C. Snapshot the virtual machine\\'s memory 

D. Snapshot name 

Correct Answer: D 

 

QUESTION 5

Which two Virtual SAN related actions might start resynchronization of virtual machine objects? (Choose two.) 

A. Editing a virtual machine storage policy to increase the number of replicas. 

B. Editing a virtual machine storage policy to reduce the number of replicas. 
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C. Editing a virtual machine storage policy to increase the number of disk stripes. 

D. Editing a virtual machine storage policy to reduce the number of disk stripes. 

Correct Answer: AC 

2V0-602 PDF Dumps 2V0-602 VCE Dumps 2V0-602 Braindumps

Powered by TCPDF (www.tcpdf.org)

2V0-602 PDF Dumps | 2V0-602 VCE Dumps | 2V0-602 Braindumps                                4 / 4

https://www.pass2lead.com/2v0-602.html
https://www.pass2lead.com/2v0-602.html
https://www.pass2lead.com/2v0-602.html
http://www.tcpdf.org
https://www.pass2lead.com/2v0-602.html
https://www.pass2lead.com/2v0-602.html
https://www.pass2lead.com/2v0-602.html

